

$$\text{XIII} \lim_{n \rightarrow \infty} \left(\sqrt[n]{R^n + R^{n+1} + \dots + R^{2n}} \cdot \frac{1}{R^n} \right) =$$

$$= \lim_{n \rightarrow \infty} \left(\sqrt[n]{R^n (1 + R + \dots + R^n)} \cdot \frac{1}{R^n} \right) = \lim_{n \rightarrow \infty} \left(\sqrt[n]{\frac{R^n (1 + R + \dots + R^n)}{R^{2n}}} \right) =$$

$$= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{1 + R + \dots + R^n}{R^n}} = \lim_{n \rightarrow \infty} \sqrt[n]{\frac{R^n \left(\frac{1}{R^n} + \frac{1}{R^{n-1}} + \dots + 1 \right)}{R^{2n}}} =$$

$$= \lim_{n \rightarrow \infty} \sqrt[n]{\frac{1}{R^n} + \frac{1}{R^{n-1}} + \dots + 1} = 1$$

$$\text{VDP: } 1 \leq \frac{1}{R^n} + \frac{1}{R^{n-1}} + \dots + 1 \leq R \leftarrow$$

$$\text{Fakt: } \frac{1}{R^n} \rightarrow 0$$

$$1 = \sqrt[n]{1} \leq \sqrt[n]{\frac{1}{R^n} + \frac{1}{R^{n-1}} + \dots + 1} \leq \sqrt[n]{R^n} = 1$$

$$\text{Fakt: } \sqrt[n]{R^n} \rightarrow 1$$

$$\text{Fakt: } \sqrt[n]{1} \rightarrow 1$$

$$\frac{1}{R^n} \leq 1 \Rightarrow \frac{1}{R^n} \leq 1 \Rightarrow \frac{1}{R^n} + \frac{1}{R^{n-1}} + \dots + 1 \leq R$$